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analysis
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Zero (unsolvable) or many (solvable) solutions
generally: polynomial complexity⇒ divide and conquer!
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Some subcases
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Synthesis
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Synthesis

How to force an adequate solution of TS1 (if it exists)
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Synthesis
How to build a solution of TS from an adequate solution of TS1
and a solution of TS2?
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Synthesis
How to detect articulations?
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Synthesis
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Conclusions

- We succeeded in developing a new divide and conquer
strategy
- It may be combined with the product and sum one
- It remains to implement it and incorporate it into synthesis
tool(s)
- and to analyse its theoretical and practical
complexity/efficiency
- Is it interesting? Various answers!
- search for other pairs of operators



Questions?


